Graphing using derivatives

The function is flat.

= f(y) = f(=)

= f(y) — J(@) = 0

The function is increasing.
= f(y) > f(2)

= f(y) — f(z) >0
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Graphing using derivatives

The slope is always the same.

= ['(y) = f'(2)
= fy)—f@)=0
— f//(y) — lim f (y) _f (:U) —0
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Graphing using derivatives

The slope is always the same.

= f'(y) = ['(x)
= ') - f)=0
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/ The slope is increasing.
= f'(y) > [ (x)
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The first derivative

What is the function doing?
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The first derivative
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The first derivative

t f(X) maxg min;  max min
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The first derivative

f(X) maxg min;  :max min

e
- jumps past 0

decreasing . increasing

<0 >0

Increasing
>0

Increasing

: : -S%
fis P
)
<
&
©

>
: : X
What does that mean for the first derivative?




The first derivative
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The second derivative

What is the first derivative doing!?
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The second derivative
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The second derivative
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The second derivative
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